N
DATA SUFFICIENCY

Directions: Each of the question below consists of a question and two

statements numbered | and Il given below it. You have to decide whether the

both the statemep s answer

data provided in the statements are sufficient to answirathe q Estlon Read

(a) if the data in alone are sufficient to answer Ehe question, while

the data in state e are not sufficient to answe @suﬁp._L . / e

(b) if the data inml alone are sufficient to answer the question, while M\ g t

the data in statement | alone are not sufficient to ans@ﬁl}hd_qu@tibn, é ;’_\7/ ,

(c) if the data either in statement | alone or in statement Il alone are sufficient .lﬁ/ W;Y’V‘Q
-}anw/erthe question;

(d) if the data given in bot ang=H=toggether are not sufficient to

answer the question ; an@
(e) if the d in both st Il together are necessary to ans
= .
@/ questlo@

ﬁ

What does ‘nip’ sta
iful’ is wnt@\ @ nip sre um’.

Il. In the same code language, ‘my house is beautiful’ is written as ‘nip sto sre
‘ tip’.

~ 1. In the code language, 'that is



N
DATA SUFFICIENCY

Directions: Each of the question below consists of a question and two

statements numbered | and Il given below it. You have to decide whether the
data provided in the statements are sufficient to answer the question. Read
both the statements and give answer

(a) if the data in statement | alone are sufficient to answer the question, while
the data in statement Il alone are not sufficient to answer the question;

(b) if the data in statement Il alone are sufficient to answer the question, while

the data in statement | alone are not sufficient to answer the question;
(c) if the data either in statement | alone or in statement Il alone are sufficient k‘,\ Q
to answer the question;

(d) if the data given in both statements | and Il together are not sufficient to @ 0\\

answer the question ; and

(e) if the d in both statements | and Il together are necessary to answer the
quesftion.
—

‘/7In a certain c:y(";y)p al ed’ mIZCs,jrhey like flowers’. Which code word
fs?2 1 = -

means ‘flow

N,/
L. ‘id nim—@p’ meang ey are im%éent’ . Cc\
Il. ‘gob ots al’ means ‘We like’roses’.




N
DATA SUFFICIENCY

Directions: Each of the question below consists of a question and two
statements numbered | and Il given below it. You have to decide whether the
data provided in the statements are sufficient to answer the question. Read
both the statements and give answer

(a) if the data in statement | alone are sufficient to answer the question, while
the data in statement Il alone are not sufficient to answer the question;

(b) if the data in statement Il alone are sufficient to answer the question,
while the data in statement | alone are not sufficient to answer the question;
(c) if the data either in statement | alone or in statement Il alone are sufficient

to answer the question;

(d) if ata given in both statements | and Il together are not sufficient to
swer the question ; and

(e) if the data in both statements | and Il together are necessary to answer

the question.

What is the code for ‘sky’ in the code language?
I. In the code Iangu@ky is clear’ is Written as ‘dera fa’
Il. In the same code Ianguage,ﬁ’hke it clear’ bwritten)ﬁs ‘de ga jo'.




